Proportional Relotionships with Tables

1)

2)

Completa the table. State the constant of proportionality.

IMtinutes =0 R 2 5 11
Distance {inem) - o 30 72 | 88
Hours - 1215 6
Pages\Written & 20 | 60 45

3)

“Determine if the table is proportional.
Afitis, state the constant of proportionality.
1f itisnot, explain why.

pottraits {7 lits 9
Hours — 21| 3 15| 9 {27
Families ~ ] 8 6{alo9
Childven 7 |24 161227
sofBalls 0 |9 51313
Price(s) - - ]18{3{1e| 6 16

8)

Create a table. Then determine if itis
proportional, If itis, state the constant of
proportionality. If itisnot, explain why.

Maia drives 150 milesin 3 hours, 250
milesin G hours, and 400 milesin 8
howrs.

An elevator rises 40 faetin 2
seconds, 100 feetinS seconds, and
180 feetin 9 seconds.

Drew types 45 words in 1 minute, 120
wordsin 3 minutes, and 184 werds in
4 minutes,
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Proportionol Relationships with Tables

Complete the table.

)finches'a-*.: 72 150
D aas T 2 5

hotrs
dotlars -

Determine if the table shows a constant of proportionality.
If it does, state the constantof proportionality;ifit does not,
explain why.

IZJ sieces of chicken
srice iny dollars

hoxes of candy
sieces of candly

veight o0
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Proportional Relationships witl: Tables

’5)When making coffee, Zachary uses 3 tobiespoons of ground coffee for every 2
ounces of woarer. Cormpiete the toble by displaying this rare as well as four other
equivalent ratioy. Then explain how you calculared the equivalent ratios you wrote.

(nThs)  (inoz)

Proportional Delaticiashipns withh Tables

"p An online bookseller chorges o flar Fee of $2 plus §1 per book for shipping Complete
the rabie and derermine if the relationship is proportional. Show your work. Explain
why or why not it is proportional,

Books - 1 2 3 4

Cost (3)
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Yetermin
l?j

eif the relationships are proportional. Explain yourreasoning.

CiYear o profit(d) CHours o \age
1 s 3,00
1 10,000
2 § 16,00
2 20,000 Z
N TSP E RPN T 3 o 2400
“Gallons 7 Miles _
3 40,000 4 S 32,00
1 1
2 4
3 7
4 10

. f?) Norais going shopping for shoes for the 12 members of the
L, danceteam. If the cost of each pair of shoes is the same
regardless of size, is the relationship proportional? Explain.
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